
a}=kmf=174

bfloTj ?= ?= ;DklQ ?= ?=

1= a}lsé clkm;df gf]^ df}Hbft 13,783,759,842   1= ljb]zL d"b|f / ;]So"l/^L 471,847,304,000

2= rng rNtLdf /x]sf] gf]^ 458,063,544,158

hDdf lgisflzt gf]^ 471,847,304,000

hDdf bfloTj 471,847,304,000   hDdf ;DklQ 471,847,304,000

OSjL^L tyf bfloTj ?= ;DklQ ?=
1 d"nwg 5,000,000,000   1  gf]^ 13,783,759,842
2 ;fwf/)f hu]*f sf]if 21,734,999,885   2  /]RsL -
3 df}lb|s bfloTj sf]if 4,197,513,998   3  ljb]zL d"b|f 19,302,647,731
4 ljsf; sf]ifx? 18,951,284,991   4  ljb]zL a}+s df}Hbft 77,008,854,596
5 #=;f=p= ljsf; sf]if -   5  P;=*L=cf/= ;+lrtL 160,114,240
6 ;^xL ;lds/)f sf]if 58,821,697,889   6  ljb]zL a)* 130,496,223,878
7 ;"grf¤bL ;lds/)f sf]if 6,312,087,397   7  vl/b / l*:sfp)^ u/]sf] ljn
8 ;]So"l/^L k"g/d"Nof+sg sf]if 289,378      -s_ :jb]zL 63,020,941
9 lgIf]k      -v_ ljb]zL 774,675
   -s_ g]kfn ;/sf/ 237,461,223,082   8  nufgL
   -v_ afl)fHo a}°x? 128,119,770,027      s= ljb]zL ;]So"l/^L 276,247,275,526
   -u_ ljz]if lgIf]k 6,050,000,000      v= g]kfn ;/sf/sf] ;]So"l/^L 35,615,849,595
   -#_ cGo 37,018,829,666      u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 3,548,585,870
10 e"QmfgL lbg"kg]{ lan 301,813,308      #= l/kf] ljb]zL -
11 g]=/f=a}= C)fkq lx;fa -      ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000
12 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj -   9  shf{ / ;fk^
13 P;=*L=cf/= af¤*kmf¤* 9,769,636,572      s= g]kfn ;/sf/nfO{ -
14 cGo bfloTj 68,846,863,612      v= jfl)fHo a}+sx?nfO{ 8,831,831,604

     u= ljQLo ;+:yfx?nfO{ 427,368,475
     #= :yfoL t/ntf ;"lawf -
     ª= cGo shf{ / ;fk^ 3,980,664,067
  10 ;"g df}Hbft 1,618,024,150
  11= cGo ;DklQ 31,470,014,618

hDdf OSjL^L tyf bfloTj 602,586,009,807   hDdf ;DklQ 602,586,009,807
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